TILSLUTNING /
CONNECTION

STIK/PLUG

TECHNICAL DATA: EN 50078

Type : Manua PLA 85,6m
Class L
Cooling : Air cooled
Weight : 04kg
im
16mm?2
No. VAREBETEGNEL SE

PLA 85  Central tilslutning
80690085 Plasmasiange 6m PLA 85

Ombytningsslange
99850085 Ombytningsslange for 80690085

Tilbehgrspose

81212126 Tilbeherspose for plasmasiange PLA 85

Pos No. VAREBETEGNELSE
45050101 Tast

71610194 Monteret print
80600096 Vippearm

80600092 Handtag

80600097 Kontaktstift
80650005 Bramderhoved
80610005 Elektrode
80630009 Dyse 1,2 mm
80630010 Dyse 1,4 mm

10 80630011 Beskyttelseskappe
11 80600088 Afstandsfjeder
12 80600101 Afstandsbgjle (2 ben)
12A 80600108 Afstandshgjle

13 24510237 Negle

14 82034014 Gasflowmeter

COoO~NOUAWNPRF

15 80680085 Slangemodul PDX 85 mVZA 6m

16 45070007 Sangeaflastning 235
17 40110406 CHJskrue M4x6

18 25450047 Aflastningsring TIG

19 80200335 Megtrik for ZA plast

20 80300601 Centraltildutning

21 80300603 Hun kontaktdel TIG-ZA
22 80600091 Cirkelslag komplet

22A 80600094 Stang for cirkelslag
22B 80600090 Bramdervogn (drejebar)
23 80600093 Bramdervogn (fast)

50119511

80600098 Skrue for handtag (1 sadt = 5 stk.)

DESCRIPTION OF GOODS

Central adaptor plug
Plasma torch 6m PLA 85

Exchange welding hose
Exchange welding hose for 80690085

Accessories
Accessories bag for plasmatorch PLA 85

DESCRIPTION OF GOODS
Trigger
Mounted print
Tipping device
Handle
Screw for handle (1 set = 5 pcs)
Contact pin
Torch body
Electrode
Nozzle 1.2 mm
Nozzle 1.4 mm
Guard cap
Distance spring
Distancering (2 legs)
Distance ring
Key
Gas flowmeter
Hose module PDX 85 with ZA 6m
Hose protection &35
CHJ screw M4x6
Relief-ring TIG
Nut for ZA plastic
Central adaptor plug
Female contact part TIG-ZA
Circle cutting device complete
Radius arm for circle cutting device
Torch carriage (revolving)
Torch carriage (fixed)

PL A 85 m/zA-tilslutning

WARENBEZEICHNUNG

Zentral Anschlul
Plasmaschlauchpaket 6m PLA 85

Umtauschschlauch
Umtauschschlauch fiir 80690085

Zubehorstiite

DESIGNATION DES PIECES

Raccordement central
Torche 6m PLA 85

Tuyau de rechange
Tuyau de rechange pour 80690085

Sac d'accessoires

Zubehdrstite fur Plasmaschlauchpaket PLA 8t Sac d' accessoires pour tuyau PLA 85

WARENBEZEICHNUNG
Taster
Montiertes Print
Kippvorrichtung
Handgriff
Schraube fur Handgriff (1 Satz = 5 Stiick)
Kontaktstift
Brennerkorper
Elektrode
Dise 1,2 mm
Dise 1,4 mm
Schutzkappe
Abstandsfeder
Distanzbiigel (2 Schenkel)
Distanzbligel
Universalschllissel
GasdurchfluBmesser
Schlauchmodul PDX 85 mit ZA 6m
Schlauchentlastung 235
Zylinderkopfschraube M4x6
Entlastungsring WIG
Mutter f. ZA plast
Zentral stecker
Kontaktteil weiblich WIG-ZA
Kreisschneide-Einrichtung komplett
Fuhrungsstang fur Kreisschneide-Einrichtung
Brennerwagen (drehbar)
Brennerwagen (fest)

DESIGNATION DESPIECES
Géchette
Circuit imprimé montée
Dispositif a bascule
Poignée
Vis pour poignée (1 jeu = 5 pcs)
Fiche de contact
Corps de torche
Electrode
Buse 1,2 mm
Buse 1,4 mm
Bague de distance
Ressort de distance
Dispositif de distance (2 pied)
Dispositif de distance
Clef
Débitmetre de gaz
Module de torche, PDX 85 avec ZA 6m
Douille isolate de cable 235
Vis CHJ screw M4x6
Bague d' allegement
Ecrou pour ZA plastique
Fiche de contact
Partie de contact, femelle TIG-ZA
Support pour coupe circulaire complet
Bras support pour coupe circulaire
Suppor torche (pivotant)
Support torche (fixe)

G/050509



